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7 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — — |3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 7.35 9370 | =N | 000 ~ 7.35| 1.94 10.36 zhLst 1.00 | 5.00 ~ 1100 93.70 | =nhLS | 5,00 ~ 1100| 1.94 10.36
2 100kN/m%E#8z25| 1.00 | 000 ~ 0.77| 111.42 |3mEBzZB| — ~ — — — | 100kN/ %825 | 1.00 | 1247 ~ 1620 11142 |3m&E#BZ% - ~ — — —
s 1.00 | 0.77 ~ 855 100.00 | #nst | 000 ~ 865|211 11.28 zhLst 1.00 | 6.00 ~ 1247 100.00 | =nLst | 6.00 ~ 1620 211 11.28
3 100kN/m%E#8z5| 1.00 | 000 ~ 080 11202 |3mEBzZB| — ~ — — — | 100kN/M%&#82% | 1.00 | 1250 ~ 1650 11202 |3m&E#BZ% - ~ — — —
s 1.00 | 0.80 ~ 859 100.00 | #nst | 000 ~ 869|211 11.27 zhLst 1.00 | 5.00 ~ 1250 100.00 | =nLst | 6.00 ~ 1650 211 11.27
4 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 000 ~ 7.72 99.07 | =S | 000 ~ 7.72| 1.95 10.46 Zh st 1.00 | 6.00 ~ 11.96 99.07 | =h4 | 5,00 ~ 11.96| 1.95 10.46
5 100kN/m%E#Z5| 100|000 ~ 048 107.04 |3mEEZB| — ~ — — — | 100kN/M%&#B2% | 1.00 | 1240 ~ 1448\ 10704 |3mE#BZ5 - ~ — — —
s 1.00 | 048 ~ 826 100.00 | =nLsy | 0.00 ~ 826 | 1.94 10.40 zhLst 1.00 | 5.00 ~ 1240 100.00 | =nLSt | 6.00 ~ 1448 1.94 10.40
P 100kN/mM%E#BZ5 | 1.00 | 000 ~ 064 109.51 |3mZEBRD| — ~ — — — | 100kN/M%&#82% | 1.00 | 11.24 ~ 1350 109.51 |3m&E#BZ% - ~ — — —
s 1.00 | 0.64 ~ 842 100.00 | =nLSy | 000 ~ 842 | 2.02 10.82 zhLst 1.00 | 5.00 ~ 1124 100.00 | =nhst | 6.00 ~ 1350 2.02 10.82
7 100kN/m%E#Z5| 100|000 ~ 037 10550 |3m&EEZB| — ~ — — — | 100kN/m%E#z25 | 1.00 | 1241 ~ 1400 10550 |3mEEZS - ~ — — —
Thilst 100|037 ~ 816 100.00| FhLs | 000 ~ 816 | 1.94 10.40 TnList 1.00 | 500 ~ 1241 100.00 | #nst | 600 ~ 1400 1.94 10.40
3 100kN/m%E#BZ25| 1.00| 000 ~ 059 10874 |3mEEBZB| — ~ — — — | 100kN/m%E#Z25 | 1.00 | 1253 ~ 1527 10874 |3mE#BZ5 - ~ — — —
Thilst 1.001 059 ~ 837\ 100.00| FhLs | 000 ~ 837|210 11.26 TnList 100 500 ~ 1253 100.00| ThLS | 5,00 ~ 1527 2.10 11.26
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ st ~ ZhnLst ~ ZzhLst ~




